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A2RCC U7D1 Homework 

1) The function  is shown. A second functions, g, is defined by .
[image: ]
a) [image: ]What is the value of ? Shw how you arrived at your answer.



b) Identify how the graph of f has been transformed to produce the graph of g and sketch it on the grid.
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2)  
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3)  
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4) 
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5) Sketch the transformations.











6) [image: ]If the point  lies on the graph of the function , which of the following points must lie on the graph of ?

[image: ]





7)   



















8)  







9) Give the name of the parent function, describe the transformation represented, and state the domain and range.

a)              Name:  ________________________________________________________

			Transformation: ________________________________________________________

			Domain:  ________________________   Range :  _____________________________


b)             Name:  ___________________________________________________

			Transformation: ________________________________________________________
			
			Domain:  ________________________   Range :  _____________________________
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Exercise #3: If a parabola has the equation f(x)= 2x* —3x+8, which of the following represents its equation

after a reflection in the x-axis?
(1) y=2x"+3x+8 (3) y=-2x"+3x+8
(2) y=-2x"+3x-8 4) y=2x"-3x-8

Exercise #4: After a reflection in the y-axis, the quadratic function g(,\'):4x277x+2 would have the

equation
1) y=—4x"+Tx+2  (3) y=4x"+Tx+2

(Z)y:4x2+7,\'—2 (€] y:4x2+7x—2
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() Graph and label £ (x).
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(b) Graph and label £(~x)




image10.png




image11.png
Exercise #2: If the point (—3.12) lies on the graph of the function y = f(x). which of the following points
must lie on the graph of y =3 (x)?

(1) (-9.36) (3) (-3.4)

(2) (-3.36) @) (-9.12)
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Exercise #3: The graph of y=f(x) is shown below.

e(x)=2f(x)-3.

(a) What two transformations have occurred to the graph of
f1n order to produce the graph of g? Specify both the
transformations and their order.

(b) Graph and label y = g(x)

Consider the function y=g(x) defined by

¥y
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Exercise #4: The function /7(x) has a range given by the interval [2, 10]. The function f(x) is defined by

f(x)== ( +8. Which of the following gives the range of f (x)?
(1) [11.23] (3) [15.27]

@) [8.12] @ [6.32]
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Exercise #3: A function, f(x). has a domain of —3<x<10 and a range of y <22. What are the domain and

range of the function £ (x+7)+10? Explain how you arrived at your answers.
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